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o2 A 1,903,000 1,903
oAZ2t2eg 9,923 *34Al 2t 123 4,077
OAZIEERDIM Ot= 37,878
ogiE 28,357,000 28,357
otERE 720,000 720
odAG A 140,000& * 122 1,680
oXg 22| 135,620« 128 1,628
oSxA24E R, 22012 1,107
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A B2US
M HYRAZH(EL2LS)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oIS A 648,000 648
oAZtel=g 9, 1603 *34Al 2t 123 3,738
=38l 45,303 55,857 10,554
A2 45,303 55,857 10,554
201 fer= 3| 7,083 8,217 A1,134
01 At 2|l 7,083 8,217 AT1,134
O=A2Y I 279,0002! 132 3.627
OJl=eles
8,000 x3A1* 128 * 122 3,456
202 04l 34,320 40,560 26,240
01 =LHAHI 34,320 40,560 N\6,240
OJlzge+4d 0l
260,0002 11~ 12& 34,320
203 =4l 3,000 3,000
MU FAEIER= 3,000 3,000
ORNEXZZE 250,000 * 122 3,000
405 AHAHE S 900 4,080 23,180
01 Tt =EF=H 900 4,080 /3,180
O 7Y 300,000 300
O2Ixt 100,000 *6H 600
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